Limited Tenders published by Keralam Museum on 26.08.2019

I. Limited Tenders are invited from <u>Empanelled Consultants and Firms</u> of Keralam Museum for the Designing and setting up of following galleries in the DHM Idukki 1). Gallery of Spices 2). Gallery of Migrant Life (2 nos) 3). Gallery of Royal & colonial period 4). Gallery of Plantations & Worker's life 5). Traveler's Idukki.

Selected Consultants / Firms for museum allied works can apply.

Details of Tender

Designing and setting up of following galleries in the DHM Idukki 1). Gallery of Spices 2). Gallery of Migrant Life (2 nos) 3). Gallery of Royal & colonial period 4). Gallery of Plantations & Worker's life 5). Traveler's Idukki.

Estimate Amount = 3562892.75 /- +GST

Contents

- 1. Tender Inviting Notice
- 2. Tender Schedule
- 3. Tender Agreement

1.Tender Inviting Notice



KERALAM MUSEUM OF HISTORY & HERITAGE Park View, Thiruvananthapuram-33

(Nodal agency of all museums under Cultural Affairs Dept. Govt. of Kerala) Website: www.museumkeralam.org | Email: info@museumkeralam.org Phone: 0471-2320231, +91-9567019037

Limited Tender No: 2/KIM/TENDER/2019-20

24-08-2019

NOTICE INVITING LIMITED TENDER AMONG CONSULTANCY FIRMS/CONSULTANTS

The Executive Director, Keralam museum of history and heritage, Park View, Vikas Bhavan P O, Thiruvananthapuram for and on behalf of the Governing Board of Keralam Museum invites sealed Tenders from the empanelled Consultants /Agencies /Firms of Keralam Museum.

1	Name of work	Designing and setting up of following galleries in the DHM Idukki 1). Gallery of Spices 2). Gallery of Migrant Life (2 nos) 3). Gallery of Royal & colonial period 4). Gallery of Plantations & Worker's life 5). Traveler's Idukki.
2	Estimate Amount	3562892.75 + GST (applicable)
3	Earnest Money Deposit	50000.00/-
4	Tender Document Fee	2500.00/-
5	Period of completion	1 month
6	Classification of bidder	Empanelled firm / consultants
		/contractors of Keralam Museum.
7	Tender documents	Can be downloaded from the website
		www.museumkeralam.org
8	Last date and time of Receipt of Tender	05.09.2019 3 PM
9	Date and Time of opening of Tender	05.09.2019 4 PM

CONDITIONS

Tender documents and tender schedule shall be downloaded free of cost from the website www.museumkeralam.org. Cost of tender document and EMD mentioned above should be in the form of separate Deamnd Draft in favour of Executive Director Interactive Museum of Cultural History of Kerala, Trivandrum payable at Trivandrum. Both demand drafts should be enclosed in sealed cover along with tender documents.

The tenders are to be accompanied with a preliminary agreement executed in Kerala stamp paper worth Rs. 200/-. Tenders received without EMD, cost of tender documents and preliminary agreement will not be considered and shall be summarily rejected. Further details can be had from Keralam Museum of History and Heritage Vikas Bhavan. P.O Thiruvananthapuram during working hours. All other existing conditions related to tender (Limited tender) of Kerala will be applicable in this tender also. The Keralam Museum of History and Heritage will not be responsible for any error like missing of schedule datas while downloading by Bidder.

This tender is exclusively for empanelled Consultancy Firm/ Contractor/ Consultant. The bids submitted by other firm/ contractor who were not empanelled will be rejected. The bids shall be submitted in sealed cover through Registered post/ Speed post before time of opening. Late tenders will not be accepted.

Excess over estimate/ below estimate rate shall be allowed by the committees constituted for Museum setting works if necessary.

The bids shall be opened at Keralam Museum office on 05.09.2019, 4 P.M by Executive Director/ Keralam Museum of History and Heritage Park view Thiruvananthapuram in the presents of the Bidders/ their representatives who wish to attend at the above address. If the tender opening date happen to be on a holiday or non working day due to any other valid reasons the tender opening process will be done on the next working day at same time and place.

Executive Director

2.Tender Schedule

Name of work: Designing and setting up of following galleries in the DHM Idukki 1). Gallery of Spices 2). Gallery of Migrant Life (2 nos) 3). Gallery of Royal & colonial period 4). Gallery of Plantations & Worker's life 5). Traveler's Idukki.

Sl	Description	Unit	Qty	Rate	Amount
1.	Providing and fixing framing with MS square tube with approved size by welding etc. with any size and shape to Roof railing, Handrailing, steel ladder railing, balcony railing, staircase railing and similar works, including applying priming coat of approves steel primer 0n M.S. tube.	kg	1800	135.92	244656.00
2.	Providing and fixing Marine plywood board or equivalent make paneling 18 mm thick with any shape and size, fixing to frame, backing or studding with screws etc. complete (Framing charge to be paid separately)as per the direction of site Engineer-in-charge	Sqm	45	2365.75	106458.75
3.	Display boards - Providing and fixing display boards with fibre glass in 3 X 4 feet size with approved design as per direction officer in charge.	No	12	3007.53	36090.36
4.	providing and applying wall painting, artistic painting, Mural paintings etc as per proposed theme of galleries	Sqft	1230	1004.32	1235316.60
5.	providing cement reliefs as per proposed theme of galleries	Sqft	360	760.03	273610.80
6.	Providing photographs with wooden frame as per proposed theme of galleries (2 X 3 ft)	No	6	4614.44	27686.64
7.	Providing and laying full wall photographic laser print in high resolution archive medium format photographic display as per proposed theme of galleries. (Cost of photography charge added separately)	Sqft	1875	310.20	581625.00
8.	Conducting photography for three galleries (Contents -landscape, Product and wildlife photographs) for displaying high resolution format photographs	Each	1	96002.02	96002.02
9.	Providing exhibit case in Fiber glass cubes with black wooden base and data engraved sticker as per direction of officer in charge (2x2x3 ft)	No	10	3800.13	38001.30
10.	Providing exhibit case in Fiber glass cubes with black wooden base and data engraved sticker as per direction of officer in charge (1x1x 2ft)	No	10	2600.37	26003.70
11.	Providing exhibit case in Fiber glass cubes with black wooden base and data engraved sticker as per direction of officer in charge (6x6x 12 inch)	No	14	2200.82	30811.48
12.	Providing exhibit case in Fiber glass cubes	No	6	4201.85	25211.10

		1			1
	with black wooden base and data engraved				
	sticker as per direction of officer in charge (
	3x3x 4ft)				
13.	Setting up of interactive galleries with wall				
	projection on photographic print including				
	charges of Projector (Benq w 1110) Full				
	HD, Projector mount (roof hanging), Flash				
	drive, Speakers (Sony), cable and				
	connection , content developing etc in gallery				
	3 and 6,				
	Projector (Benq w 1110) Full HD	No	2	115002.00	230004.00
	Projector mount (roof hanging)	No	2	1601.00	3202.00
	Flash drive	No	2	800.00	1600.00
	Speakers (Sony)	No	2	15002.00	30004.00
	cable and connection	No	2	5000.00	10000.00
	Content developing – Video & graphics	No	2	90002.00	180004.00
14,	Wall projection and hand interactive with				
	Projector (Benq w 1110) Full HD,				
	Projector mounts (roof hanging), Interaction				
	Controller Leap Motion Gesture Controller,				
	System (HP 15 DY0004AU Laptop)				
	,Installation& content Development- Video				
	and graphics etc				
	Projector (Benq w 1110) Full HD	No	1	115003.00	115003.00
	Projector mounts (roof hanging)	No	1	1600	1600.00
	Interaction Controller Leap Motion Gesture	No	1	20001.00	20001.00
	Controller				
	System (HP 15 DY0004AU Laptop)	No	1	50001.00	50001.00
	Installation& content Development- Video	No	1	200000.00	200000.00
	and graphics				
Tota	Total				3562892.75

									Executi	ve Dire	ctor
Es	stimate r	ate /	%	belo	w /	%	above				
I	agree	to	execute	the	work	at					

Consultant

3.Tender Agreement

APPENDIX FORM OF AGREEMENT

Preliminary Agreement enter	ed into on	this	day	of		••	
2016 between			• • • • • • • • • • • • • • • • • • • •			••	
				for and	on bel	half of	f the
Government of Kerala (hereinaf	ter called	the	Government)	of the	one	part	and
Sri							
					(H.E	full n	ame
and address of the Contractor) (here	inafter cal	led					

the Contractor) of the ot	her part for the e	xecutio	n of th	e agree	ment as	s well	as for	r the
execution of the work								
			• • • • • • • • • • • • • • • • • • • •				••••	
Whereas the Gover	nment invited ten							
								ation
No	dated					in	L	the

Before commencing work or within a week after the date when the acceptance of the tender has been intimated to him, the probable value of contract which together with the amount of earnest money deposited shall be treated as security for the proper fulfillment of the same and shall execute an agreement for the work. If he fails to do this or maintain a specified in rate of progress (to be specified in each case in the tender schedule) the earnest money and security for the deposit shall be forfeited to Keralam Museum, fresh tenders shall be called for or the matter otherwise deposed off. If as a result of such measure due to the default of the tender to pay requisite deposit, sign contracts or take possession of the work any loss to Government results the same will be recovered from him as arrears of revenue, but should it be a saving to government the original contractor shall have no claim whatever to the difference. Recoveries on this or any other account will be made from the sum that may be due to the contractor on this or any other account will be made from the sum that may be due to the contractor on this or any other subsisting contracts or under the revenue recovery act or otherwise the Government may decide.

Now therefore these present witness and it is mutually agreed as follows:-

- 1. The terms and conditions for the said contract having been stipulated in the said tender form to which the contractor has agreed a copy of which is hereto appended which form part of this agreement it is agreed that the terms and conditions stipulated therin shall bind the parties to this agreement except to the extend to which they abrogated or altered by express terms and conditions herein agreed to and in which respect the express provisions herein shall supersede these of the said tender from.
- 2. The contractors hereby agree and undertaken to perform and fulfill all the operations and obligations connected with the execution of the said contract work.....
 -(H.E. the name of the work) If awarded in favour of the contractor.
- 3. If the contractor does not come forward to execute the original agreement after the said work is awarded and selection notice issued in his favour or commits breach of any of the conditions of the contracts as quoted above within the period stipulated them, the government may re-arrange the work otherwise or get it done departmentally at the risk and cost of the contractor and the loss sustained by the Government can be realized from the

contractor under the Revenue Recovery Act as if arrears of land revenue as assessed qualified and fixed by the adjudicating authority consisting of the Principal Secretary, Revenue, Archives Archaeology, Museum & Director, Archaeology/Archives/Museum & Executive Director Keralam Museum any other officer or officers authorized by the government in this behalf taking into consideration the prevailing DSR rates and after giving due notice to the contractor.

- 4. The contractor further agrees that any found due to the Government under or by virtue of this agreement shall be recoverable from the Consultant /Contractor from his EMD and his properties movable and immovable as arrears of land revenue under the provisions of the revenue recovery act for the time being in force or in any other manner as the Government may deem fit in this regard.
- 5. "The Contractor further assures that is clearly understood that the settlement of claims either by part bills or by final bills will be made only according to the availability of budget provision and allotment of funds made with the Executive Director, Keralam Museum under the respective heads of account in which the work sanctioned and arranged and also subject to the seniority of such bills. No claims for interest or damages whatsoever shall be made for the belated settlement of claims of bills.

N WITNESS WHERE OF Sn
The contractor has set their hands on the day and year first above written.
Signed by Sri
Officer/Officers Keralam Museum in the presence of Witnesses.
1.
2.
Signed and delivered by Sri(the contractor)
In the presence of Witnesses:
l.
<i>)</i>